B R A #MN1) () ANEOAM. T%1 M3 mieEagin=
| BS 3 A g (N w o AN B (N
R4 M % sk % 7t % %
e . 19,856 -0.4 25,566 -8.1 45,4221 4.9
ENEEIAIAY YL 87,078 4.1 39,692 -2.5 126, 770 2.0
g 16, 002 4.7 13, 496 1.2 29, 498 3.1
R ml = 12, 858 8.3 7,584 -1.3 20, 442 4.5
i1 I il 7, 390 0.7 5,449 -1.9 12,839 -0.4
Y, 1) 3, 222 2.4 1,276 -3.6 4, 498 0.6
e H 13, 870 1.9 9,126| -1.6 22,996 0.5
i T (ES 308, 782 0.0 146, 468| -2.6 455,250 -0.8
/N " 3,470 4.9 2,707 0.4 6, 177 2.9
+ X LiSg 24,978 1.0 11,778 -2.2 36,756 -0.1
i - 24, 526 3.1 11,494 -0.5 36, 020 1.9
iz} Hr JF 40, 332 0.6 26,380 —-2.4 66,712 -0.7
(4 % 47,218 0.4 25,471 -2.5 72,689 -1.1
v % 25, 646 0.9 13,035 -1.7 38, 681 .0
B pilll 56, 790 1.4 31,892 -1.5 88, 682 .3
MoW K ORI 40, 906 0.0 18,537 -2.8 59,443 -0.9
Fein M 21,144] -0.6 10, 151 -1.8 31, 295 -1.0
i o 11,080 -0.7 6,396 -2.1 17,476 -1.2
Fen G2l 7o 96,042| -0.5 55,274 -2.6 151,316 -1.3
ik 7 32,402] -0.6 18,312 -0.8 50,7141 -0.6
it i w 37,030 -0.8 15,977 -3.4 53,007 -1.6
PN En] 12, 472 1.6 6,215 -1.6 18, 687 0.5
v AT A B 39,044 -1.2 18,370, -3.9 57,414 -2.1
T2y EEN 10,472 -1.3 5,332 -2.6 15,804 -1.7
- i 12,270 -1.7 5,793 -2.7 18,063 -2.0
P H h 41,144 -1.1 29,927 -2.1 71,071 -1.5
&t # HBH # 7, 858 0.3 2,548 -1.1 10,406 -0.1
ik = 3,604 -3.4 1,561 -4.1 5,215 -3.6
ATV 1 I/ RE/A 21,178 -2.3 10,176 -4.0 31,354 -2.9
i Il 2,870 -1.8 1,232 -1.1 4,102 -1.6
US = 33,4041 -0.9 18,252 -3.5 51,656 -1.8
® =1 4,970, -3.0 1,753 -2.4 6,723 -2.8
1t foy 8,404 -3.3 2,278 -4.4 10,682 -3.6
il 7H 10,132 -0.9 3,437 -1.9 13,569 -1.2
P P A 2,976 -1.4 817 -2.7 3, 793 -1.7




B OR A HN.2) ) ABOAR, [%) I AAEREE

il BS 53 A g (N woEm AN B (N

R 4 £ M % & sk % 7t % %
P s 9,446 -3.2 4,145 -3.9 13,591 -3.4
JI % 1, 930 0.4 965 0.3 2, 895 0.4
R s (] 1,072 -3.1 502 -6.0 1,574 -4.0
fifi 7N 6, 462 1.8 4,584 -4.0 11,046 -0.7
4 % B 486 4.7 164 -0.6 650 3.3
W 514 -1.2 103 -1.0 617 -1.1
& &= 528 7.8 2821 -2.1 810 4.1
wo® R 768| —-11.7 201 4.7 969 -8.8
7 ) i 2,610 -0.4 3,400 -5.6 6,010 -3.4
Tr o N 628 5.0 267 1.7 895 5.8
3E JI 1,912 -1.6 426 -2.1 2,338 -1.7
X H 6, 798 1.2 4,907, -3.3 11,705 -0.7
i A 2,174 -1.3 536 0.9 2,710 -0.8
7S Iy 1,950 -1.9 520 -0.6 2,470 -1.6
it =8 a5} 366 -2.1 98| -3.9 464 -2.5
5 Hy 1,086 -2.7 483 -2.4 1,569 -2.6
il i 1, 402 8.3 173 -1.1 1,575 1.2
oot B oy 938] -1.1 372 1.6 1,310 -0.3
7 i) (s 5,090 -0.7 1,833 -2.4 6,923 -1.1
gr B2 W fRE 1, 187, 630 0.3 627,713 -2.6| 1,815,343 -0.7
\ IS H 8, 168 2.5 3,525 -1.6 11, 693 1.2
" obH T = 4, 780 0.6 3,281 —-2.0 8,061| -0.5
[ = R 2,394 5.6 1,958 -1.0 4, 352 2.5
B Il 17, 264 1.1 9,737 -2.5 27,001 -0.2
B 7 B F 32, 606 1.7 18,501 -2.1 51, 107 0.3
K fifi il 9, 148 0.0 4,834 -2.6 13, 982 -0.9
i3 W 206 2.0 60 5.3 266 2.7
H = 80| -13.0 52 10.6 132 -5.0
e Livg (il 4241 -6.6 2721 -4.9 696| 5.9
e g 2,258 -0.8 1,104 -7.4 3,362 3.1
b p/S 316 2.6 108 0.0 424 1.9
B 7K 884| 6.0 110 -12.7 994 -6.8




B E KX #MN.3) () ANEOAM. T%1 M3 mieEagin=
| BS 3 A g (N w o AN B (N
R4 M % sk % 7t % %
i H 710 -1.7 269 -10.6 979 -4.3
% FH 120 -1.6 31 0.0 151 -1.3
= e 748 2.5 188 -9.2 936 -0.1
e B M F 5,746 -1.7 2,194 -6.8 7,940 -3.2
ik = 804| -14.5 178 -5.8 982| -13.0
i i 2y 656 -8.6 307 -b.2 963| -7.6
1 % 150 0.0 63| 4.5 213 -1.4
W N R 1,156 -4.0 361 -2.2 1,517 -3.6
/N I iing 310 -11.4 90| -5.3 400| -10.1
[if] /I s 994 1.6 529 3.1 1,523 2.1
5 o 460 1.8 151 -1.9 611 0.8
N S - 4,530 -b.5 1,679 -1.8 6,209 -4.5
= e & 642 9.6 108 -0.9 750 7.9
wOE M B 426| —10.5 118 -3.3 544 -9.0
B 73 632| -2.8 465 -5.3 1,097 -3.9
fon] = ES 4301 -1.8 143 -8.9 573 -3.7
Fen Al s 1, 196 1.4 936 -6.3 2,132 -2.2
iEl ES 360 —14.7 336 8.7 696| —-11.9
G b7 592 0.3 609| -7.0 1, 201 -3.5
(I S S 4,278 -1.5 2,715 -6.4 6,993| -3.5
2 oF m B R 8,444 -1.7 3,068 -3.9 11,512 -2.3
£ * 9,740 -1.6 3,834 0.4 13,574 -1.0
A e Ui 6, 194 .5 2,649 -1.6 8,843| -0.2
P & 7,312 .6 4,316 —5.2 11,628 -1.6
E<l) iy {7 1,244 -5.3 387 -5.8 1, 631 -5.4
M e 930 —-13.4 266| —-16.4 1,196 —14.1
=N R S NI 3,000 -3.2 819 -5.4 3,819 3.7
JiE [if] 1,016 -9.3 314 -8.2 1,330 -9.0
fi fn 952 -8.1 400 -1.0 1,352 -6.1
F I NI S 1,796] -0.3 926| -6.8 2,722 —2.6
i 7S 7,746 -2.5 3,703 -7.5 11,449| -4.2
Hr i S 2,840 -0.1 1,323 -2.4 4, 163 -0.9




B R AKX ##MN.4) () ANEOAM. T%1 M3 mieEagin=
| BS 3 A g (N w o AN B (N
R4 M % sk % 7t % %
= B % 274 4.9 73 9.0 347 2.3
£ H 348 4.2 7 -7.2 425 1.9
" R & K 416 3.5 129 -8.5 545 0.4
i N 198 -2.0 56| 9.7 2541 -3.8
it 1] 4921 -0.4 541 -1.8 546 -0.5
B BB W 2,218 -0.9 1,161 -8.8 3,379 -3.8
[ JEE W 164 5.1 211 4.5 185 3.9
i faf 721 12.5 15| -16.7 87 6.1
~ AN R 160 0.0 30 9.1 190 -1.6
e i 182 -5.2 3b| -b.4 217 5.2
™ & il 1,270 3.6 1,166| —-10.2 2,436 -3.5
+ A il 64| —-17.9 39| -2.5 103 —-12.7
woO®R Bk 432 6.4 2,672 —-13.5 3,104 | —-11.2
A B 3 57,5041 -1.5 27,533 -b5.6 85,037 -2.9
g7 I 714 -2.5 295 7.2 1,009, -3.9
i | N 396 0.0 117 0.0 513 0.0
+ e 1,722 -2.8 5251 -3.1 2,247 -2.9
A 718 -1.9 281 -3.8 999 -2.4
BbbrDEDHL 1, 560 3.3 1,061 -3.9 2,621 0.3
3 73 792 1.5 389| -3.2 1, 181 -6. 1
i) JI a5} 1, 406 3.8 1, 004 1.5 2,410 2.9
T = = 1, 156 1.0 946| -5.4 2,102 -2.0
[T SO 666 2.8 39| -3.8 1,205 -0.2
R T 5,942 -1.2 3,662 -4.8 9,604| -2.6
5O 3 15,0721 -0.6 8,819 -3.8 23,891 -1.8
K N 1] 116| -12.1 45| —-4.3 161| -10.1
x g 142 2.9 35| -2.8 177 1.7
B & 18 234 4.5 101| -6.5 335 0.9
7N s el 150 —-156.7 65| —77.4 215] -53.9
HRU—V KA 72T 10 — 288 — 298 —
RO IR R 270 -3.6 2,461 -10.5 2,731 9.9
®BO&E A 98] -3.9 151 -6.8 249 5.7
E<l) JER i 90| -4.3 636| —16.0 726 —14.7




R R & RN 5) () NEOFR, %) M e

Tl P %3 A =N @ o AN B (A
B4 TE £ % E W oAt % &t % %
T = 1,110 -3.6 3,782 —17.5 4,892 —-14.7




EH % B KR G ANBOHM, %) % e nes

|| BiS 53 A g (N wm o AN B (N

R4 M % & sk % it % %
X =1 91,964 -0.2 44,020, -3.6 135,984 -1.3
i x =4 4, 154 2.2 2,167 -2.4 6, 321 0.6
x =7 o | 4,524 0.6 5,248 —-4.1 9,772 -2.0
X fn i 13, 890 1.3 6,113 -3.4 20,003 -0.2
+ H 14, 438 0.5 5,954 -3.6 20,392 -0.8
o pisi) 24,716 1.0 12,219 -2.9 36, 935 -0.3
R i W 15,056 -0.6 5,398 -3.5 20,454 -1.4
B S 8,992 -2.0 4,406 -3.1 13,398 -2.4
AN S iz 7,798 0.0 2,848 -0.6 10, 646 -0.2
oo 4+ 5 4,774 -1.3 2,367 0.5 7,141 -1.1
53] A I 9,788 -0.1 4,727 -3.3 14,515 -1.2
I Eil 11, 144 -0.7 5,921 -3.1 17, 065 -1.5
+ St = 5, 208 1.4 1,920 -3.2 7,128 0.1
Bk A H 2,714 0.6 2,317 -3.6 5,031 -1.4
5 = 6, 736 1.8 3,192 -2.8 9, 928 0.3
e M il 6,436 -0.6 3,496 -3.6 9, 932 -1.7
#i Pl 11,600 -0.5 5,415 -5.3 17,015 -2.1
T 1A] 14,9621 -0.1 6,913 -2.2 21,875 -0.8
T/ A 16,178 -0.6 7,857 2.7 24,035 -1.3
] el 12,926 -0.7 5, 683 0.8 18, 609 -0.2
wIlB B =0 %k 35, 954 1.6 23, 560 1.3 59, 514 1.5
o U] 7 10, 408 .2 5,248| -2.6 15, 656 0.6

e 95, 252 0.4 52,301 -1.9 147, 553 -0.4
Hr s 14, 582 0.5 5,835 -1.4 20, 417 -0.1
e J& 8,802 -1.2 4,287 -3.5 13,089 -2.0
i JI 9,478 -1.8 4,653 -3.6 14,131 -2.4
= i 9, 810 2.5 4,891 -0.7 14, 701 1.4
N % 10, 148 -2.8 4,692 5.1 14,840 -3.6
P~ S SN 24, 788 1.1 16,357 -0.8 41, 145 0.3
B r 5 15, 688 0.4 7,140 -3.1 22,828 -0.7
24 A N 17,906 -0.2 8,623 2.6 26, 529 -1.0
7 H 11, 310 0.6 4,893 -1.0 16, 203 0.1
H ity i 7,676 3.3 6,267 -2.7 13, 943 0.5
i & 78, 950 0.1 35,918] -3.2 114, 868 -1.0
LI 638, 750 0.2 322,846 -2.4 961,596 -0.7

g [EIRE | TS | mee | &G




B £ #&MN1) () ANEOAM. %) Ml piERnE
g S W A B (A W o A B (A
B4 iE # % £ WAk % &t % %
i, 18 325,222 -0.3 151,054 -3.5 476,276 -1.4
1t i, 18 5, 406 1.2 4,630 -2.8 10, 036 -0.7
T W & 9, 668 .8 6,886 -0.4 16, 554 1.4
K ] 29, 582 0.8 22,467 -2.6 52,049 -0.7
Hr i 1% 18, 264 0.2 10, 788 -1.2 29, 052 -0.3
L = o= 30, 428 -0.7 17,466 -2.9 47, 894 -1.5
i R & 33, 036 0.2 18,893 -2.1 51, 929 -0.6
HOR OB 37,8301 -0.4 22,7441 -2.0 60,574 -1.0
T R % 7,844 0.7 8,443 -2.3 16,287 -0.8
5% pic] 33, 648 -1.0 24,939 -3.1 58, b87 -1.9
Fo St il 122, 482 1.5 58,337 -1.2 180, 819 0.6
gif] B 46, 742 0.9 23,037 -1.8 69, 779 0.0
& s = 107, 068 -0.3 54,694 -1.7 161, 762 -0.7
i 7S 70, 900 L4 33,798| -3.6 104, 698 -0.9
i T I 13, 320 .1 6,944 -3.9 20,264 -1.3
AT F B 27,208 L7 13,938 -3.2 41,146 -0.6
# R 32, 812 1.2 17, 398 -1.8 50, 210 0.1
5 L A % 45,958 0.2 20,885 -2.8 66, 843 -1.0
= 1 [¥] 37,704, -0.2 18,724 -2.2 56,428 | -0.9
Eein ] = 16, 790 0.7 9, 043 -1.0 25, 833 0.1
JI el 72, 806 -1.0 51, 728 -2.3 124, 534 -1.6
1 el i 33, 078 2.3 14,522 -2.0 47, 600 0.9
=5 »r E4] 19,470 -3.0 9,551 -3.4 29, 021 -3.1
s Va =N 22,7182 -1.2 10, 357 -3.3 33, 139 -1.8
= i 23,996 0.0 14,042 -3.1 38, 038 -1.2
3 &l 17,296 -0.4 11,811 -1.8 29,107 -1.0
1t I =l 13, 554 0.6 6,466 -2.7 20,020 -0.5
I 7Y 17,600 -3.9 6, 838 2.1 24, 438 -3.4
W /N [l 20,000 -1.9 8,778 -2.3 28,778 -2.0
P S/ NI/ 9,202 -0.2 5,082 -4.5 14,284 -1.8
o X Db 4, 004 3.7 1, 348 3.5 5, 352 3.7
FTEV = A - | 5,082 —-5.7 2,205 -2.4 7,287 4.7
N I 7 6,478 -3.9 2,971 -5.8 9,449 -4.5
wo® M R 596 14.6 281 18.6 877 15.9
L= S 1,284 -2.0 401 0.3 1, 685 -1.5
( J\)itijﬁfﬁju; EMIE | (G | | (P




B £ &M 2) () ANEOAM. %) Ml piaERne
A NN o A B (N

R 4 AES % IS % H) % %
2N i 7221 7.0 245 -3.5 967| -6.1
S I 358 18.5 233 -3.7 591 8.6
& JeE 2,640 -2.0 1,181 -0.9 3, 821 -1.7
woE M F 1,322,860 -0.1 693, 148| -2.5| 2,016,008 -0.9
- A N 3, 292 2.2 1,159 -2.5 4, 451 1.0
iz} N % 3, 400 0.1 581 -6.9 3,981 -1.0
) £ 12,632 -4.7 1,952 -2.9 14,584 -4.5
A 1\ B N | 2,554 -1.6 1,799 -3.5 4,353 —2.4
R ES = 3,568 -1.5 2,069 -1.8 5,637 -1.6
® I F R 2,466 -1.5 512 -b5.7 2,978 -2.3
G2l A 2,526 -5.0 1,140, -4.8 3,666 —5.0
VA SO 7 S 30,438 -2.6 9,212 -3.4 39,650 -2.8
B R A
(R A )
gt B o R 5 | 1, 187,630 0.3 627,713 -2.6| 1,815,343 -0.7
B 7 B 3 32,606 1.7 18,501 -2.1 51, 107 0.3
X BB F 9, 148 0.0 4,834 -2.6 13,982 -0.9
e B B F 5,746 -1.7 2,194 -6.8 7,940 -3.2
AR ] F 4,530 -5.5 1,679 -1.8 6,209 -4.5
I S S 4,278 -1.5 2,715 6.4 6,993| -3.5
H & # 37 57,504 -1.5 27,533 —5.6 85,037 -2.9
F M oOE B G 15,072 -0.6 8,819 -3.8 23, 891 -1.8
LI ST 1,110 -3.6 3,782 —-17.5 4,892| -14.7
NI I 1,317,624 .2 697,770 -2.9| 2,015,394, -0.9
| M F 638, 750 .2 322,846 -2.4 961,596 —0.7
(B R E )
wook B 1,322,860 -0.1 693, 148| -2.5| 2,016,008 -0.9
oA B G 30,438] -2.6 9,212 -3.4 39,650 -—2.
HOE /A F 1, 353,298] -0.1 702, 360 —2. 2,055,658 -1.0




